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Name:
Stu#:

(1)[5 points] Find the accumulated amount at the end of 6 years of a continuous annuity if the
annual interest rate is r = 0.05 and payments are made at the rate of 50t dollars per year.

(2)[5 points] Find the average profit P over 0 ≤ q ≤ 150 where profit as a function of quantity q

is
P (q) = 369q − 2.1q2

− 400 .

p. 1 of 2



Math 192 Sec S07N01 - Quiz 6
Mar 23 2007

Name:
Stu#:

(3)[5 points] An investment fund has initial balance $5, 000 and earns continuously compounding
interest at an annual rate of 6%. The resulting balance at time t years is B(t) = 5000 e0.06t. Find
the average fund balance over the first two years.
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